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SOCIAL WORK

INSTRUCTIONS TO CANDIDATES

Read the instructions carefully before answering the questions: -

) &

10.

11.

This Test Booklet consists of 12 (twelve) pages and has 63 (sixty-three) printed questions.
IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU
SHOULD CHECK THAT THIS BOOKLET DOES NOT HAVE ANY UNPRINTED, TORN
OR MISSING PAGES OR ITEMS. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

Use only Black Ball Point Pen to fill the OMR Sheet.

Please note that it is the candidate’s responsibility to fill in the Roll Number carefully without

any omission or discrepancy at the appropriate places in the OMR ANSWER SHEET as well

as on SEPARATE ANSWER BOOKLET for Conventional Type Questions. Any
omission/ discrepancy will render the Answer Sheet liable for rejection.

Do not write anything else on the OMR Answer Sheet except the required information. Before

you proceed to mark in the OMR Answer Sheet, please ensure that you have filled in the

required particulars as per given instructions.

This Test Booklet is divided into 3 (three) parts - Part-I, Part-II and Part-IIL

All three parts are Compulsory.

Part-I consists of Multiple-Choice Questions. The answers for these questions have to be

marked in the OMR Answer Sheet provided to you.

Parts II and I1I consist of Conventional Type Questions. The answers for these questions have

to be written in the Separate Answer Booklet provided to you.

After you have completed filling in all your responses on the OMR Answer Sheet and the

Answer Booklet(s) and the examination has concluded, you should hand over the OMR Answer

Sheet and the Answer Booklet(s) to the Invigilator only. You are permitted to take the Test

Booklet with you.

Marking Scheme

THERE WIL BE NEGATIVE MARKING FOR WRONG ANSWERS MARKED BY A

CANDIDATE IN THE OBECTVE TYPE QUESTIONS

(i)  There are four alternatives for the answer to every question. For each question for which
a wrong answer has been given by the candidate, one-third of the marks assigned to
the question will be deducted as penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as above
to the question.

(iif)  Ifaquestionisleft blank. i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO J




SPS.C.

PART -1

Written (Main) Examination for the post of Sub-Jailer

(Multiple Choice Questions)

Choose the correct answer for Questions 1 to 50 from the given options. Each question carries 3 marks.

1. Article 17 of the Indian constitution
emphasizes on:
(a) Social Justice
(b) Abolition of untouchability
(¢) Social justice
(d) Equality

2. Jane Addams is associated with:
(A) Settlement of houses
(B) Peace activism
(C) Disarmament
(D) Case work
Codes;
(a) A only
(b) A and B only
(c) A,BandConly
(d) Cand D only
3. Ego is completely deprived of its
independence and reduced to the status of
an instrument of execution of superego’s
wishes. This results in -
(a) Hostile to instincts and incapable of
enjoyment
(b) Hostile to Id and capable of
management
(c) Not hostile at all
(d) None of the above

is the study of Past experiences.
(a) Monitoring
(b) Accountability
(c) Recording
(d) Evaluation

5. Laissez-faire leader is a/an:
(a) Active participant
(b) Passive participant
(c) Autocratic
(d) Thinker
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[50 x 3 =150]

6. The process thatis not needed in descriptive
research is -
(a) Manipulation of variable
(b) One to one interview
(¢) Observation
(d) Data collection

7. Which research focuses on altering the
prevailing problems?
(a) Applied research
(b) Fundamental research
(c) Action research
(d) Descriptive research

8. Cherry picking is a deliberate effort to -

(A) Avoid all findings

(B) Present the results that support the
hypothesis )

(C) Intentionally use the limited
categories

(D) Use secondary data

Codes;
(a) A only

(b) A and B only
(c) A and C only
(d) A, Band C only

9. The difference between ordinal and interval
scale is:
(a) The interval is unequal
(b) The interval is equal
(¢) Interval scale has no order
(d) None of the above

10. Which of the following are features of the
Hindu Marriage Act, 1955?
(A) Void Marriage and Divorce
(B) Punishment for Bigamy
(C) Polygamy
(D) Judicial separation
Codes;
(a) A and D only
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(b) A,B,Cand D
() A, Band Conly
(d) Cand D only

11. Who cannot receive foreign contribution
according FCRA, 2010?
(A) Judge
(B) Organization of political nature
(C) NGO
(D) Editor and cartoonist.
Codes;
(a) A only
(b) A, Band D only
(c) A, Band C only
(d) Cand D only

12. Arrange the following events in the order of

their occurrence -

(A) Friendly visitors to India

(B) Hull Housing

(C) Elizabethan poor law

(D) Social Diagnosis by Mary Richmond
Codes;

(a) C,A B, D

(b) A,B,C,D

(¢) C,D,B, A

(d)C,D,A,B

13. Match items given in List - I with those in

List - II by selecting the correct code given
below:

List-I List-I1
(Authors) (Books)
i. Fostering
Participation and

A. Jack Rothman

(1999) promoting
innovation
B. Caplan, G. ii. A Theory of
(1961) Human Motivation
C. Douglas, T. iii. Common
(1993) Human Needs
D. Maslow, A. iv. A Community
(1943) Approach to
Mental health
Charlotte (1945) .
Practice
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Codes:
A B C D E
(a) 1 ii v iv iii
(b) i il i iv v
(@ iv  iii v ii i
(d) i iv v i iii

14. What is the minimum number of days that
a woman should have worked in an
establishment  before claiming the
Maternity Benefit?

(a) 120 days
(b) 365 days
(c) 80 days

(d) 240 days

15. If there are numbers of employees,
then the employer has to provide a canteen

according to Factory Act.
(a) 250
(b) 500
(c) 320
(d) 100

16. Match items given in List - I with those in
List - II by selecting the correct code given

below -
List-I List-II
(Events) (Years)
(A) International
youth day (i) 1947
proclaimed by UN
B) International .
Lii)cm credit Year RS
(C) Mental Health (iii) 2005
Act
(D) Establishment
of Planning (iv) 1987
Commission
Codes:

(A) (B (© (D)
(@) (i) (D) (v) (@)
(b) (i) ()  (v) (i)
(¢ () (@) @) (v)
(@G @ G (iv)
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17. In conflict management, high level of
cooperativeness and assertiveness leads to -
(A) Accommodating
(B) Collaborating
(C) Avoiding
(D) Competing
Codes:
(a) A and B only
(b) A only
(c) Bonly
(d) C and D only

18. The purgation of suppressed emotions to
experience relief is called -
(a) Ambivalence
(b) Sublimation
(c) Repression
(d) Catharsis

19. Who developed ‘Sociometry’?
(a) Jacob L. Moreno
(b) Likert
(c) Bogardus
(d) Fechner

20. Operant conditioning is based on -
(a) Sense perception
(b) Rewards and punishments
(c) Trial and error
(d) Motivation

21. Which of the following constitutional
provisions gives a fundamental right to
equality?

(a) Article 22
(b) Article 14
(c) Article 16
(d) Article 18

22. is an attempt to include all
elements in the group.
(a) Probability sampling
(b) Quota sampling
(c) Census
(d) Convenient sampling
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23. is known as the bloodless

revolution in India.

(A) Land gift movement

(B) Bhoodan movement

(C€) Gramdan movement

(D) Landless farmers movement
Codes:

(a) A and B only

(b) A only

(c) Bonly

(d) C and D only

24. A talk therapy exercise commonly used, in
which you express your thoughts and
feelings as if you were talking to a specific
person even though that person is not
present is ;

(a) Talk therapy

(b) Empty chair technique

(c) Client centred therapy

(d) Psycho dynamic approach

25. The Scale that can have absolute ‘zero” and
can measure absence of a trait is called:
(a) Nominal
(b) Ordinal
(c) Interval
(d) Ratio

26. The phases of social action are -
(A) Mobilization
(B) Awareness building
(C) Sensitization
(D) Mass action

Codes:

(@) A,B,C,D
(b) B,A,C,D
() C,A B D
(d) A,B,D,C

27. What is the statistical test used for
comparing a sample variance with a
theoretical population variance is called as?

(@) Z - Test

(b) F - Test

(c) Pearson’s Correlation test
(d) Chi-square test
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28. Arthur Durham conceptualized community

29.

30. The National Council of Professional Social
Work Practitioners Bill was introduced in

S1.

work as a process of delivering

(a) Social Justice

(b) Equality

(c) Human Rights

(d) Social welfare services

Match the items in List-I with those in List-
Il and choose the correct answer from the
codes given below:

List-I List-II
(Authors) (Concepts)
(A) Sigmund (i) learning by
Freud observation
(B) Abraham (ii) Oedipus
Maslow Complex
(C) Albert (iii) psychological
Bandura needs
(iv) Learning to
(D) B. F. Skinner change overt
behaviour
Codes:
Ay (B (© (D)
(@ (i) () i) (iv)
(b) () (i) (1)  (iv)
(c) (i)  (iv) (i) (ii)
(d) Gv) (i) () ()

the year -
(a) 1995
(b) 2001
(c) 2003
(d) 2018

India is ranked in terms of Human
Development Index as per

rankings.
(a) 131
(b) 140
(c) 136
(d) 135

the 2020
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32,

33.

36.

37

The Companies Act was enacted in the year

(a) 1999
(b) 2013
(c) 2017
(d) 1987

The Environment Protection Act was
enacted in the year:

(a) 1986
(b) 1992
(c) 1984
(d) 1974

. Probability sampling is used when the size

of the universe is:
(a) Known
(b) Unknown
(¢) Small
(d) Large

. Which of the following is not the basic

principle of CSR?
(a) Sustainability
(b) Individualization
(c) Accountability
(d) Transparency

Which is not a personality Test?
(a) DISC
(b) MBTI
(c) MCAT
(d) Eysenck Questionnaire

The first generation of human rights
consists of -

(a) Political and economic rights

(b) Civil and educational rights

(c) Civil and political rights

(d) Civil and economic rights

. Who and in which year formally abolished

Sati in India?
(a) William Bentinck, 1829
(b) William Russel, 1825
(c) Mountbatten, 1820
(d) Ruby Gotwick, 1888




W

ol o

39. Who wrote Mind, self and Society?
(a) Konopka
(b) Trecker
(c) Lewin
(d) G. H. Mead

40. Sigmund Freud identifies conscience with -
(a) ego
(b) id
(c) unconscious

(d) super ego

41. Model Prison Manual was adopted in the
year .
(a) 2002
(b) 2003
(c) 2004
(d) 2005

42. Given below are two statements, one
labelled as Assertion (A) and other labelled
as Reason (R). Select the correct answer
from the codes given below:

Assertion (A): Sustainability is using
natural resources without depleting them
for future generations.
Reason (R): We have a responsibility to the
future generations.
Codes:
(a) Both A and R are true and R is the
correct explanation of A
(b) Both A and R are true but R is not
the correct explanation of A
(¢) Ais true but R is false
(d) A is false but R is true
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43. Match the models of development given in
List-I with the area of focus given in List-IL

List-1 i
(Models of (Are::itlzlflo us)
Development) -

A. Banking model
of education

B. Residual welfare | 2. Optimal use of
model resources

1. Welfare services

C. Achievement - 3. Pedagogy of
Performance model | Hope
D. Sustainable 4. Perks and

development model | Benefits

Codes:
A B & D
(@ 3 2 1 4
(b) 3 1 4 2
(c) 3 1 2 4
(d) 1 3 4 2

44. Match the following Labour Legislation
given in List-]1 with the year of enactment
given in List-]L.

List-1 List-1I
(Labour (Year of
Legislations) enactment)
A M i
aternity 1. 1860
Benefits Act
B. Minimum
Wages Act a1l
C Thl? Payment of 3.1972
Gratuity Act
D. Socie
ociety 4.1926
Registration Act
Codes:
A B C D
(a) 4 3 1 2
(b) 3 2 1 4
{c) 2 1 1 3
(d) 2 4 3 1

45. Trust v/s Mistrust is a task of (in Erickson’s
stages):
(a) 3 to5 years
(b) 18 months to 3 years
(¢) Birth to 18 months
(d) 5to 12 years
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46. COP is a climate change conference by UN.
What does COP stand for?
(a) Cooperation on Pollution
(b) Collation on Policy formulation
(c) Cooperation of parties
(d) Conference of the parties

47. Match the following names of the books
given in List - I with the authors given in
List - II and select answer from the codes

given below:

List-I List-II
(Names of Books) (Authors)
A) Worki ith

E:O’mn:’::‘l‘igi W] ) HY. Siddiqui
(B) An . .
Introduction to () Mequistion,
2 Hunter L.
Social Psychology
(C) Hand book of
Community (it1) Mary
) Richmond
Psychiatry
(D) Social (iv) William
Diagnosis McDougall
Codes:

(a) @B (©) (D)
a) (i) (iv) (@) (i)
b) (i) (i) (iv) (i)
(v) Gi) @) (i)
d) (i)  (v) () (i)
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48. Which committee reported the socio,
economic and educational conditions of
Muslims in India?

(a) Sachar Committee

(b) Verma Committee

(c) Social Justice Committee
(d) Wagqf Board Committee

49. What is a situation when a person actively
searches for a job and is unable to find work
called?

(a) Unemployment

(b) Underemployment

(c) Poverty

(d) Structural unemployment

50. Modeisthe .

(a) value repeated most often in a data
set.

(b) value that divides the data series
into two.

(c) value that represents the mass data.

(d) value that denotes an average of the
data.

PART - 11

(Conventional Type Questions)
Answer any 2 (two) from Questions 51 to 55. Each question carries 25 marks.

[2 x 25 =50]

51.  Explain psycho social development theory of Eric Erikson with examples in each stage.

52.  Field work is an integral component of social work. Define and explain the objectives, and throw

light on field work curriculum in India.

53.  Sketch the history of Non-Governmental Organization and explain the steps in registering a trust

in your State.

54.  Explain human behaviour and various behaviour modification techniques.

55. Ilustrate with an example the role of a community development programme in resolving the

problems faced by the tribal communities.
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PART - 111
(Conventional Type Questions)

Answer any 5 (five) from Questions 56 to 63. Each question carries 10 marks.

56.

97,

58.

59.

60.

61.

62.

[5x 10 =50]
Explain the legal and social definition of crime? Give an elaborate note on the factors responsible
for children committing crime in the contemporary situation.
Explain the history of social work in India.
The Prison administration aimed at reforming and correcting criminal behaviour attempts to
rehabilitate and re-integrate the prisoners to the society. Build a model for a step wise reformation
of Prisoners in India.
Explain human trafficking and legal provisions to prevent human trafficking.
Trace the history of Panchayat Raj in India.
Write a note on five-year plans and rural development.

Highlight the salient features of the 74" Constitutional Amendment.

Explain the organisational structure and objectives of Social Welfare Board.
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